QRF6EE BibiRHE NXRERS

SM 7 £38318RHAE FHEMEERREEK
I8 H 5 (H) LES
. 1 - B E Rt 0
2. BRI T4
A ﬁ%ﬁfﬁﬁ%ﬁ%ﬁﬁ 3,223,932
D (3. Znfh 395,881 |F & %A 150,000
&R SEEBEDHE 193.105
BIEERIBELAA 52,776
=it 3,619,813
IHH 5 (H) LES
" H (1,000 /h)-
i 1. A= 1,806,500 & 2 B L b
o2 BA-V—R% 1,066,350 | X4 4448 %4(1,500 /[E])
2|3 iEE 596,295
4. ZTDith 459,377 1% EREN. (EH
&t 3,928,522
XKEXHOBEB LD
*HA (WA | &%
1. BY
4~38 |2 RUSEAY 1,806,500
INET 1,806,500
2. BA-)—RE&
4~3 8 |BmiEF 1,035,000
4~38 |1\yor)— A ¥ (BRE) —R(#k)) 1 [@] 31,350
INET 1,066,350
3. 518
A~3B [7—LBEXNYEZE (RIERMGEL) 133,950
HE1ES KEOBEMER (KK HIEE)MBIFE 99,000
4~38 |BEXELI— BEHEERE 363,345
INET 596,295
4. TDih
4~3R |1RI& 82,560
4~3 A |EREF 34,471
4~3F |EEREREWE L A —FIAHES(RESGEICER) 9,000
4A~3F |HHOMBF N . XEERELLE 11,153
4~3 A |1% & BN PN 200,000
4~38 |HSZTYRLEBIREEHERE - FliRE 122,193
INET 459,377
IRA&ET X HEE TREE
3,619,813 H - 3,928,522 H = -308,709 H

XARR . 2RO FRENSTALEL:
REFEFWBE= 0 H



